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Note: All questions are compulsory. Carrying of mobile phone during examinations will b{é:{tr;'agted as case

of unfair means.
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1. Create a class named StudentGrade. Include fields for a student roll rurn
obtained, and letter grade. Create a constructor that requires the § ade
marks, and marks obtained. If a value for total marks is not passed’to the“constructor, the total marks
value is set to 100 by default. (If a 0 value is passed for total maf otal marks to 1 so that you
do not divide by 0 when calculating a grade). Define a member function that calculates the student’s
percentage (marks obtained/total marks*100) and assigns adetts grade’based on the following:

80% or above (A1), 75-79% (A), 70-74% (B+), 60-69% 59% (C+), 40—-49% (C), 30-39 (D),
less than 30% (F). Create a main() function that instantia displays enough StudentGrade objects
to test a variety of scores and possible point value : [4 marks}]

2. Design and implement the classes in the following hierarchy using C++. You may add more data

ded constructors in each class. All classes should have
d.print_bag_info() that enter and display all the data
tively. You must demonstrate dynamic binding using

get_bag_infor() and print_bag_info( fons in the main(). [4 marks]
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3. PhoneBook class. Fields include first name, last name, area code, and phone number.
hclude insertion and extraction and insertion operators that prompt and display the values of each
field; respectively.
b) Overload the operator []() function to change a PhoneBook object’s phone numbet.
¢) Overload the operator ()() function to change the area code and phone number. (4 marks]
4,

a) Explain the relationship between inheritance and polymorphism.

b) What are staiic members and static member functions? Explain with the telp of an cxampie.
c) What is an Inline function? In which situations do we make a function inline? {3 marks]
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